

Extraordinary Published by Authority

TUESDAY, JUNE 24, 1980

GOVERNMENT OF THE PEOPLE'S REPUBLIC OF BANGLADESH

MINISTRY OF LABOUR AND INDUSTRIAL WELFARE Section VI

NOTIFICATION

Dacca, the 24th June, 1980

No. S. R. O. 198-L/80/LIWVI/11(10)/78.—In exercise of the powers conferred by section 5 of the Factories Act, 1965 (E. P. Act IV of 1965), the Government is pleased to exempt International Tank Terminal (Bd) Limited, Chittagong, from the provisions of sections 50, 53, 54 and 55 of the said Act for a period of six months.

By order of the President M. M. ZAMAN Deputy Secretary.

MINISTRY OF POSTS, TELEGRAPH AND TELEPHONE NOTIFICATION

Dacca, the 24th June, 1980

No. S.R.O. 200-L/80.—In exercise of the powers conferred by the Post Office Act, 1898 (VI of 1898), the Government is pleased to make the following further amendments in the Post Office Rules, 1961, namely—

In the aforesaid Rules, for rule 7 the following shall be substituted, namely:

"7. The following rates of postage shall be chargeable on postal articles when the postage is prepaid:

Letters :

(A) For any part of the world served by the Foreign Post with the exception of India, Nepal, Bhutan and Pakistan:

			Luna.
	For a weight not exceeding 20 gr (1 oz)		2.95
-	Above 20 gr. (1 oz) up to 50 gr (2 oz)	200 200	5.30

(1777) Price: .25 Palsa.

	Taka.
Above 50 gr (2 oz) up to 100 gr (4 oz)	7.10
Above 100 gr (4 oz) up to 250 gr (8 oz)	14.15
Above 250 gr. (8 oz) up to 500 gr (1 lb)	27.15
Above 500 gr (1 lb) up to 1000 gr (2 lbs)	47.20
Above 1000 gr (2 lbs) up to 2000 gr (4 lbs)	76.70
(B) For India, Nepal, Bhutan and Pakistan	Bangladesh inland rates.
Postcard:	D
(A) For any part of the world served by the Foreign exception of India, Nepal, Bhutan and Pakistan:	
Single Postcard	Taka. 2.05
	2 03
(B) For India, Nepal, Bhutan and Pakistan:	
Single Postcard	Bangladesh
Reply Postcard	inland rates.
Newspapers and Periodicals:	
(A) For any part of the world served by the Foreign exception of India, Nepal, Bhutan and Pakistan:	Post with the
	Taka.
For a weight not exceeding 20 gr (1 oz)	0.75
Above 20 gr (1 oz) up to 50 gr (2 oz)	1 - 20
Above 50 gr (2 oz) up to 100 gr (4 oz)	1.60
Above 100 gr (4 oz) up to 250 gr (8 oz)	2.95
Above 250 gr (8 oz) up to 500 gr (1 lb)	5.30
Above 500 gr (1 lb) up to 1000 gr (2 lbs)	8 · 85
Above 1000 gr (2 lbs) up to 2000 gr (4 lbs)	12.40
For every additional 1000 gr (2 lbs) or fraction thereof	6.20
(B) For India, Nepal, Bhutan and Pakistan	Bangladesh inland rates.

Note: The reduced rates mentioned against item (A) above are applicable in the case of registered newspapers and periodicals published in Bangladesh if these are posted directly by the publishers or their agents and the conditions relating to transmission of registered newspapers and periodicals in the internal service of Bangladesh are fulfilled.

Other Printed Papers:

(A) For any part of the world served by the Foreign Post with the exception of India, Nepal, Bhutan and Pakistan:

		Taka.
For a weight not exceeding 20 gr (1 oz)		1.50
Above 20 gr (1 oz) up to 50 gr (2 oz)		2.40
Above 50 gr (2 oz) up to 100 gr (4 oz)		3. 25
Above 100 gr (4 oz) up to 250 gr (8 oz)		5.90
Above 250 gr (8 oz) up to 500 gr (1 lb)		10-60
Above 500 gr (1 lb) up to 1000 gr (2 lbs)		17.70
Above 1000 gr (2 lbs) up to 2000 gr (4 lbs)		24.80
For every additional 1000 gr (2 lbs) or fraction the	reof	12.40
For India Namel Division and Baltistan		Danaladach

(B) For India, Nepal, Bhutan and Pakistan .. Bangladesh inland rates.

Note: The reduced rates mentioned against item (A) are subject to the condition that the other printed papers shall not contain publicity matters or advertisements other than what appears on the cover or fly leaves.

Small Packets:

(A) For any part of the world served by the Foreign Post with the exception of India, Nepal, Bhutan and Pakistan;

		Taka.
For a weight not exceeding 100 gr (4 oz)		3.25
Above 100 gr (4 oz) up to 250 gr (8 oz)	**	5.90
Above 250 gr (8 oz) up to 500 gr (1 lb)		10.60
Above 500 gr (1 lb) up to 1000 gr (2 lbs)		17:70
(B) For India, Nepal, Bhutan and Pakistan	260	Bangladesh inland rates.
Aerogramme :		Taka.
(i) (a) India, Nepal and Bhutan	9.0	0.65
(b) Pakistan		0.90
(c) All other countries of Asia	**	3.15

					Taka.
(ii) Oceania	2.0				3.15
(iii) Africa and	Europe .	*** ***	***	144	3.45
(iv) Americas	* : : : : : : : : : : : : : : : : : : :				3.75

Parcels:

The Director-General, Bangladesh Post Office, shall, from time to time, declare in the Post Office Guide or Postal Notice the countries and places to which parcels may be transmitted by the Foreign Post, and the rates of postage chargeable in each case.

Redirection and other charges due on parcels which are returned as undeliverable from the countries and places of destination in accordance with the arrangements in force between Bangladesh and such countries and places shall be recovered from the senders in Bangladesh."

2. This notification shall take effect on the 1st day of July, 1980.

By order of the President

A. M. AHSANULLAH

Secretary,